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(Non-Calculator)

Read Carefully

1. You may NOT use a calculator.
2. Full credit will be given only where the solution contains appropriate working.
3. Square-ruled paper is provided.
FORMULAE LIST

The roots of 
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Sine Rule:
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Cosine Rule:
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Area of a triangle:

Area = 
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Volume of a sphere:

Volume = 
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Volume of a cone:

Volume = 
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Volume of a cylinder:

Volume = 
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Sample standard deviation:
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, where n is the sample size.
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[image: image11.wmf]Internet Purchases


1. [image: image12.wmf][image: image13.wmf][image: image14.wmf][image: image15.wmf]In a recent survey, 252 people were asked what items they purchased most from internet shopping sites.

The results are displayed in the pie chart opposite.

How many people buy their DVD’s from a website?
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2. [image: image16.wmf]Factorise the expression:
49x2 – 16
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3. [image: image17.wmf]Neatly and accurately, copy the coordinate diagram and make an accurate drawing of the line y = ½x + 2 showing clearly, at least three points through which the line passes. 
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4. 27,582 passengers passed through the departure lounge at Glasgow Airport on Bank Holiday Monday.

Round this number to two significant figures.
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5. (a)
Write down an expression for the area of the rectangle below.
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(1)


(b) 
Now expand the brackets and simplify the expression.
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6. [image: image20.wmf]The diagram below shows a circle, centre C, with diameter AB.
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FE is a tangent to the circle, meeting at point A.

∆ ADE is isosceles with AE = AD.

Given that ( ABD = 40º, calculate the size of ( AED.

(Explain clearly how you obtained your answer.)
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7. [image: image21.wmf]Internet Purchases

[image: image22.wmf]Ann Gusderrais investigates the price of a pint of milk at various places in Scotland.

Her results are:


32p 
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35p
38p


44p
40p
39p
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36p

(a)
Find the median cost of a pint of milk. 
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(b)
Find the lower and upper quartiles, and make a neat

and accurate box-plot to illustrate the data.
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8. 
[image: image23.wmf]Ethel and Doreen live next door to one another and travel together to the supermarket where they each do their weekly shopping.

Each of their husbands likes a particular kind of biscuits and this week, they decide they will also try the biscuits that the other husband likes.

Ethel buys two packs of Kidkas and 4 packs of her husband’s favourite, Albatross.  Her bill came to £4.44

(a)
Let k be the cost of a pack of Kidkas.

Let a be the cost of the Albatross.

(where k and a are the cost in pence)


Use the above information to form an equation in k and a.












(2) 

Doreen bought 3 packs of Albatross and 5 packs of Kidkas, her husband’s favourite.  This cost her £5.15

(b) 
Write down a second equation in k and a and use it, along with your answer

to part (a) to calculate the cost of each packet of biscuits.












(3) 

(c) 
Mildred, who lives around the corner, buys some biscuits also.

She buys 4 packs of Kidkas and 2 packs of Albatross.

What change would she get from a £5 note?
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9. A card is picked from those shown right.










Assuming that the person picking the card cannot see what each card is:-

(a)
What is the probability that the card chosen is a picture card?












(2)


(b)
What is the probability that the chosen card is both red and an even number?
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[ END OF QUESTION PAPER ]
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